L 1.0 10" 1 1"
ba N <>
B B : | B ) B
& :
~N
- * —_— 5 @
2 N = & s e
- = B e Tl - I -1 o~ 1 — [ C .2 " -$- -¢— I 212
_ b + % %+ |—t ; : ET
—_— g 4 | &|—+ It [ ~ ¥ a I 4 l| 2
4 | 4 e | —t -1 | T uhal i 5 -
o o = = pat
o i B ¢+ 5 ¢+ “ :
4 | 4 i B! 4 | | 4 | $|—t & 21
S 3172" 3" BT A l @ - 3 e
wmmsbbnusmey Snm————— (o] ~ N ; — # $ FL
@ 2 12 L L21/2" @’ 21/2" l v|21/2" (BJ fﬁJ 21/2" | [21/2” 212" l { L21/2"
T 1 - (G ' 1 ! g (I
R i i C
D1 (4)3/4" Dia. A36 A.Bolts L2 (4)3/4" Dia. A36 A.Bolts D3 (4)3/4" Dia. A36 A.Bolts D4 (4)3/4" Dia. A36 A.Bolts L5 (4)3/4" Dia. A36 A.Bolts D6 (4)3/4" Dia. A36 A.Bolts D7 (4)3/4" Dia. A36 A.Bolts
Plate w=9" L=1'-1" blate w=8 1L=10 Plate W=8" L=10" Plate W=8" L=1'-0" Plate W=8" L=1'-8" 1?7late w=8" L=1 -1 blate w=9" L=11" /\
[Elevation=100 "-Q" Elevation=100 -0Q" Elevation=100'-0" Elevation=100'-0" Elevation=100'-0" Elevation=100,-0 Elevation= Q,CI? 4 é" ,l\
1/2" (13mm) DIAMETER
I "o L o — 21/2" (64mm) /— CONCRETE ANCHORS
T " PROJECTION (U.O.N) (NOT BYVP)
| .
B B t g
A BOTTOMOF COLUMN i
BASE PLATE ELEV. -
(2]
z ) 5 3 5 ~
S < g g g | )
[ E———— Emm— o~ N 10 > v
. - . + 4 ||t + 4 |-t 22 3 —
~ PR RN S P = - 1O
'¢' 'd} ¢' '43' ¢> ~$' i ﬂ====“ —- u ! Zz 11/4" OPENING WIDTH 11/4"
| e B + & Nt
4 || &|—t 4 || $|—* 4 || T ) 8
<3 31/2" g 3" 31/2" S NOTE: 1" (256mm) PROJECTIONABOVE
e — — ¥ o ¥ ~ BOTTOMOF JAMB CLIP
. T kS
21/2" | ‘21/2" J% 21/2" L [ [21/2" ]Z’ 21/2" l [21/2" @J ﬁ}i
f + —— f f ' TYPICAL ANCHOR
F F F
L L L BOLT PROJECTION FRAMED OPENING DETAIL
D8 (4)3/4" Dia. A36 A.Bolts T b9 (4)3/4" Dia. A36 A.Bolts D10 (4)3/4" Dia. A36 A.Bolts LI1 (4)3/4" Dia. A36 A.Bolts D12 (4)3/4" Dia. A36 A.Bolts
Plate W=g8" L=1'-4" Plate W=8" L=1 -5" Plate W=8" L=1'-1" I"latew=8" L=11" F"latew=8" L=9"
Elevation=100'-0" LBlevation=100 -0" Elevation=100'-0" Elevation=100 -0 Elevation=100'-0"

\

A\

BASE PLATE DETAIL

—
B |ovening width + 5 (127mm) |
1 VARIES Framed Opening
-3 L=
BOTTOM OF
COLUMN
BASEPLATE — 0 L
/ g ‘Opemng Width + 9" (229mm)
L 1 Walk Doorw/ Sub Frame
FLUSH = 0" (Omm) :] r
‘(zpening Width + 4 1/2" (114mm)
Walk Doorw/o Sub Frame
TYPICAL COLUMN

FRAMED OPENING AT MASONRY

1. CONCRETE, GROUT, ANCHOR BOLTS, AND ANY OTHER EMBEDDED ITEMS ARE
TO BE FURNISHED BY OTHERS

2. ANCHOR BOLT DIAMETERS WERE DETERMINED BY ALLOWABLE SHEAR AND TENSION
PER AISC SPECIFICATIONS (FY = 36 KSI1). ANCHOR BOLT LENGTH, EFFECTS
OF EMBEDDED ANCHOR BOLT EDGE DIMENSIONS AND METHOD OF TRANSFERRING
FORCES FROM ANCHOR BOLTS TO FOOTINGS ARE TO BE DETERMINED BY OTHERS.

3. DESIGN LOADS AND REACTIONS ARE FURNISHED ON OTHER DOCUMENTS.

4_ FOUNDATION MUST BE LEVEL, SQUARE AND SMOOTH. ANCHOR BOLTS MUST BE
ACCURATELY PLACED AS SHOWN ON THIS DRAWING OR STEEL WILL NOT FIT.

THE vP ENGINEER"S SEAL APPLIES
ONLY TO THE WORK PRODUCT OF
VP AND DESIGN AND PERFORMANCE
REQUIREMENTS SPECIFIED BY VP.
THE VP ENGINEER"S SEAL DOES
NOT APPLY TO THE PERFORMANCE
OR DESIGN OF ANY OTHER PRODUCT
OR COMPONENT FURNISHED BY VP
EXCEPT TO ANY DESIGN OR PER-
FORMANCE REQUIREMENTS
SPECIFIED BY VP.

NOTE:

Dimensions to and between A.B’s

may vary from detail to detail.

Check each detall carefully.

Finished Floor Elevation = 100'-0"

Building Code: 96BOCA

Live Load: (Reducible) 20.00 psf

Coll. Load:Gravity 1.00, Uplift 0.00 psf
Wind Speed: 90.00 mph

Wind Exposure: B

Ground Snow: 70.00 psf

Snow Exposure Category: 3

Seismic Hazard / Use Group: Group 1
Building Use:Standard Occupancy Structures

(Unless Noted Otherwise)

DXC 1/dls2

D o\-65% .02 G

THIS DRAWING, INCLUDING THE INFORMATION HEREON,

REMAINS THE PROPERTY OF VP BUILDINGS.

ITIS PROVIDEDSOLELY FOR ERECTINGTHE BUILDING
DESCRIBED IN THE APPLICABLE PURCHASE ORDER AND

SHALL NOT BE MODIFED,. REPRODUCED OR USED FOR

ANY OTHER PURPOSE WITHOUT PRIOR WRITTEN
APPROVAL OF VP BUILDINGS.

VP Buildings, Inc.

ANCHOR BOLT PLAN -

DETAILS

THE GENERAL CONTRACTORAND/OR ERECTNR I QNI FI Y
RESPONSIBLE FOR ACCURATE, GOOD QUALITY WORKMANSH;
IN ERECTINGTHIS BUILDING IN CONFORMANCE WITH THIS
DRAWING, DETAILS REFERENCEDIN THIS DRAWING,

ALL APPLICABLE VP ERECTIONGUIDES,

AND INDUSTRY STANDARDS PERTAINING TO PROPER
ERECTION, INCLUDING THE CORRECT USE OF TEMPORARY

BRACING.

3200 Players Club Circle Memphis TN 38125
: BUILDER JOB#
REV| DATE 8Y DESCRIPTION ;
CUSTOMEPPATCO Construction Inc WIO0115377-01
I\ /-8-02 @F SFE D7 BIG MOOSE HARLEY-DAVIDSON DATE
LOCATION K 12/27/200:
— Portland, Maine P BUILDINGS T
o%e Big Moose Harley-Davidson VARCO-PRUDEN AMZ Z RDK.
BUILDERS PO# - PAGE
NTS Big Moose Harley.vpc | VPCVERSION: = 3.0 AR 2 sz
FILENAME:
12/27/2001 11:18:47 WI0115377-010E1.vpc




